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Solve each eguation.
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Diraw 2z graph for each inegquality.
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Solve each ineguality and graph its solution.
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Solve each compound inequality and graph its solution.
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Solve each inequality and graph its solation. L
: ” o 3'7’::"% “\I’:Vi\ "}"":w,
%@ﬂ% iwﬁﬁ : 2 ;fii} lwﬁgﬁﬁghﬁ g@

10) —6|2n| <60

S S T ) b
§; b N5 RS

A)3<n<T: P A5 6 7 8 0 10
@ﬁq>50rn< =5 1 et Oy
C)n>5:\i - é * é}
D) n<30rn> T Gt rmbenstont=

Solve each eguation.
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Find the slope of each line.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

18) Slope =-3, y-intercept=15




Write the slope-intercept form of the equation of the line through the given peint with the given slope.
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Write the standard form of the equation of the line deseribed.
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1) Determine if the graph at the below is & function.
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3} Using the graph below, find £{-3).
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2y Determine if the relaton represents a

function.
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4y Answer the following questions about the piecewise graph below.
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4, Is the graph a function? B‘%‘&;}
5.15 3 in the domain? {
6. Is 5 in the range? Miﬁé‘ﬁ
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7. What is the range for a domain value of 77 e é




Cell phone companies use equations to determine how much to
charge monthly. For example, a company charges $30 for the
monthly service and S.05 for each call.

a. Write an equation to mode! how much the cell company
charges.

y= 3D L.o6 X

b. What do the slope and y-intercept of the graph represent
in this situation? |
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c. Graph the equat[on you Wrote Label each axis
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Repetitions

0 20 40 60 80 100 120 ’i‘
Weight (pounds)

14. Describe the correlatlon of the given scatter plot (1 pomt)
i
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15. Draw a best fit line. (1 point)

16, Which equation could be used as the best fit line for the
graph? (2 pomts)

b. y = —10x + 14

c. y=-10x+8 d.y=--1-ax+8

17. Using your choice from #16, predict the repititions for
someone who llftS 5 0 pounds‘? (1 pomt)

Y=t {50y +




